Nr.73

LS 10 S 168

X
AN

Zﬁ/{:\ o A o .
3 & n ~0 340 0

/

/Vr.tl Q) $in ( %-'17): 5/"1(270”): _4

Ve, §

6) sim (=L)< sin(-90°)- -1
) srn (577)=§l'h(9/7+7/'):5r'n(76’0°):'0
d) sr === s = 23/7)=5/'h(?0°):'/

C) (os(.;l;) - (.q;[90°)=0

F) cos (-17)= (o5 (-780°)= -1
q) cos(9N)=cos (4-27)= cos(0°) =1
h) Ceos (-57)= cos( ~47-%) = (os(180°) = -1

a} sin(3,20)= - 0,588
b) Sim (b)) = - 0,%5%
() sink-2)- 938
d) s -15) = -0 ¢s50
e) tos (-3)= -0, 330
F) cos(-150T)= 0

q) cos(13)= 0 90%

h (s -
) tes(ZL)- 9,10
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